H & 0l & AHS B Ml A

0248 =0ila eS| =21t
SN C2D
M T2HHIMY EE
SR AEHE SRS (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 20,777,160 24,918,922 A4,141,762
= 1,400,000
== 975,000
Al 17,842,160
e 560,000
C2EHIMG EF 10,776,400 16,155,882 N\4,379,482
= 1,400,000
= 975,000
Al 7,841,400
ES 560,000
ANEHE & &Ry 5,256,912 5,013,400 243,512
= 1,400,000
[ 975,000
Al 2,881,912
ANE DSEXRA 4,610 0 4,610
101 @124H| 4,610 4,610
M ORIMZZ2NSE S 4,610 4,610
NE DSE XA 4,610
NE9S(HEICaiet=g) & - L& 500,000 500,000 0
401 AlZHIZ 2018 500,000 500,000
01 AlZH| 500,000 500,000
NZ9S (LHA IColotER) & - IE(HISHI) 500,000
LHE KA THOH P& K= EHIAHY 2,800,000 2,510,000 290,000
[ 1,400,000
= 700,000
Al 700,000
401 AIZHIX S0HH 2,800,000 2,510,000 290,000
[ 1,400,000
= 700,000
Al 700,000
01 Al&H| 2,300,000 2,001,000 299,000
LHer THATHGHA S HA X ZHIAH 2,300,000
= 1,150,000
= 575,000
Al 575,000
02 Zeltl 500,000 500,000 0
LHEr THATHGHAZE HA X = ZHIAH 500,000
= 250,000
< 125,000
Al 125,000
g =HE2 ZHIAY 309,000 0 309,000
201 Ler=23 | 9,000 9,000
01 AtR2telHl 9,000 9,000
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M CERIHIMY ES
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SA - ZE - B2(30) - HRAS of v G o HIDE2
Z2HEY HIIF 2208
750,000 * 12 9,000
401 Al HIYL S CHYI 300,000 300,000
01 AlZH| 300,000 300,000
e =82 FHIAE 300,000
WAL AZBEZ e 100,000 200,000 100,000
401 Al HIZL R 0HHI 100,000 200,000 100,000
01 Al&HI 100,000 200,000 100,000
WMD) ASEZ2 i 100,000
SHHMEE S22 /ASAIEH| 43,302 48,300 A4,998
308 XXM SOIH 41,802 40,000 1,802
18 SIS0t 4 A AS A 41,802 40,000 1,802
SHENMEHE 222 ASAHI(Z ) 41,802
403 MR HHMSAHE01H 1,500 8,300 26,800
02 SISOt =2 H P E A I 1,500 8,300 26,800
SHENNEHE 222 ASAHI(H2) 1,500
SEA AL =224 - 22/HE L sHEEZ JI=( 100,000 300,000 200,000
A 2SS
401 A2 HIRL 201 100,000 100,000
01 Al&H| 100,000 100,000
2EA AE E224 - 223 & s0HE
T2 JI2(FH)AHE 82 100,000
NE3S(2S2]) JEMHLSA 150,000 150,000
401 AIEHIX SO 150,000 150,000
01 Al&H| 150,000 150,000
ANE3S(SS2l) dENSSA 150,000
NEZ0S(ADIE T2 &2 SHEFSA 700,000 700,000
401 Al HIZ R OHHI 700,000 700,000
01 AlZ8| 700,000 700,000
A0S (ADIE F20) &2 82 700,000
=R A2 A2 550,000 0 550,000
= 275,000
Al 275,000
401 AIZHIZ SO 550,000 0 550,000
= 275,000
Al 275,000
01 AlZH| 550,000 0 550,000
ST A2 2EME(AENS) 550,000
S 275,000
Al 275,000
s0HE E2Hd & &1 2,820,000 3,150,000 A330,000
Al 2,260,000
ES 560,000
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2ol sOE E20HE € =1 (Gt H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
2RI (a4SH) SHEER &2 Y 250,000 100,000 150,000
401 AIEHIL =20 250,000 100,000 150,000
01 Al&HI 250,000 100,000 150,000
HENIS(ASH)SHECR &2 Y 250,000
SIS (2 EH) S0HEER 22Y 720,000 600,000 120,000
Al 360,000
S 360,000
401 Al HIZ R 0HbI 720,000 600,000 120,000
Al 360,000
ES 360,000
01 Al&HI 720,000 600,000 120,000
SHENIS(2SH)s0HEERZ XY 720,000
Al 360,000
ES 360,000
FH2AS (H2H) SHELZE - 2F 380,000 0 380,000
401 AlEHIZ S 0HbI 380,000 380,000
01 Al&H| 380,000 380,000
FUHAS (H2H) SHELZRZ SHETSA 380,000
HS2US(SIME)SHESZRZ SHEE 120,000 800,000 A680,000
401 Al HIZ R 0HbI 120,000 800,000 A\680,000
01 AlZ8| 120,000 800,000 680,000
HS204S (SIAME)SHEZZ B S AL 120,000
FW2BS (WFH)sHEEZZ SELE 200,000 200,000 0
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
FU2BS (UFH)SHEEZ XY 200,000
FU01S (2N )sHEERZ &2 150,000 150,000
401 AIEHIX SO 150,000 150,000
01 Al&H| 150,000 150,000
FUNIS(2AE) SHEER SHEF 150,000
HREIRS (A )SHECR 22 Y 180,000 100,000 80,000
401 Al HIZ R 0HbI 180,000 100,000 80,000
01 AlZ8| 180,000 100,000 80,000
HEIRS(4EH)SHECZ 22 Y 180,000
ez (dad) sSHECR 22y 300,000 50,000 250,000
401 Al HIZL 201 300,000 50,000 250,000
01 Al&H| 300,000 50,000 250,000
Herws(dad) sHELR &2 300,000
HE23S (SeH) SHESZ SHEYIA 50,000 0 50,000
401 A& HIX R0 50,000 50,000
01 AlZH| 50,000 50,000
HE2B3S (SSH) SHETZ SHEYIA 50,000
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FU7S (EHHE) sHEER SHEE 70,000 70,000

401 Al HIZL 201 70,000 70,000

01 Al&HI 70,000 70,000
TS (EHN) SHEER &2 70,000

2005 (WEH) SHELZ &2 400,000 0 400,000
Al 200,000
S 200,000

401 Al HIZ R 0HbI 400,000 0 400,000
Al 200,000
ES 200,000

01 Al&HI 400,000 0 400,000
HS2005 (WH) SHEES =HEY 400,000
Al 200,000
ES 200,000

Ol=2EX s EXl 24 200,000 96,000 104,000

OIXI=E2X 2af 200,000 96,000 104,000

401 A& HIX R0 200,000 96,000 104,000

01 AlZH| 200,000 96,000 104,000
DIX=EX 2 200,000

ZRA 2= & 2 2,239,488 6,711,482 A4,471,99%4

C2ERNES AME 1,492,500 2,954,100 1,461,600

101 ©1AH| 128,000 70,000 58,000

M ORNZZ2NSE S 128,000 70,000 58,000
SOHEEZZ M=&HY AFY 128,000

201 er2 3| 235,000 227,600 7,400

01 At2tlt] 130,000 122,600 7,400
CRRIES =24 30,000
oSRML e =g 20,000
CE2FRNE+E Edl SRz 30,000
N He =58 50,000

02 S5=24g4l 105,000 105,000 0
CERANEIE H=t] 35,000
CERANE AEEH =X 40,000
X =Ste SH 30,000

206 M=l 40,000 30,000 10,000

01 M= HI 40,000 30,000 10,000
C2FX2el HEHl 40,000

401 Al HIZL 201 1,086,000 2,623,000 A1,5637,000

01 Al&H| 1,085,000 2,622,000 21,537,000
C2H M= & EFHA SOt 50,000
CEEFEH SO 70,000
A= X2 SHOPA S 30,000
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SEOMAESER L ZH SIpH 30,000
EERNUL+ (022, 232IE, 25) ©t
et 50,000
SEEEg B 70,000
2 UEE2H ME ¥ B2 70,000
=2=3 3| 30,000
SEAESRS ¥ EXOIEYY, BUE) 30,000
DEYTSAENTA L ) 100,000
=22AZRNES 200,000
NE=d E2HH) 50,000
H%, HolEY Y48 10,000
L TESSF b=t TE] 40,000
HEH+SRE2snEs 20,000
QHITS(DM) E2 | 40,000
SEOUE(SDH)ET X 25,000
222 I 160,000
HE17S OAE R4 2IIBA 20,000
03 Al CHH| 1,000 1,000 0
TERXBLTA 1,000
405 XHoHE S 3,500 3,500
BEIEEETET 3,500 3,500
S2HES §E)| 7L 3,500
S2ENE I 30,000 50,000 220,000
401 A8 L 20H| 30,000 50,000 220,000
01 Al&t 30,000 50,000 £20,000
CEYEXE 81 2 I 30,000
N EED 12,800 18,800 £6,000
201 Ler2 | 12,800 12,800 0
01 AR 22l 12,800 12,800 0
L2 Yerrs) 3,600
SE)| S2HE LAl 2E0IH STt 2,000
E2E+ IS 30,0002 12 %23 7,200
SR =& 224,700 359,200 A134,500
101 @124t 11,200 10,000 1,200
VBELEEIE=T=R 11,200 10,000 1,200
MBI LAIAS QI
2,800,000815224528 11,200
201 2Br2 ] 56,000 146,200 £90,200
01 AR 22l 56,000 46,200 £90,200
SOIS M)l RAMY(E) UNE 51,200
S22 HAZRX A 4,800
206 TH2H| 142,500 140,000 2,500
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el E2ERA 24 & 22 EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 =4l 142,500 140,000 2,500
HEXH(EYE, gatzs, 2a) 100,000
SHES RS A2 E MEXHH 30,000
gletd AaMEn 12,500
405 XHAHE SHI 15,000 63,000 A48,000
01 TR ESF SHI 15,000 63,000 48,000
MR (EW)ord HIHI| 7 15,000
WERAE 100,000 150,000 /50,000
401 Al HIZL 201 100,000 150,000 /50,000
01 A=l 100,000 150,000 /50,000
WERKE2 100,000
AMUHEZ oIE FH| 151,000 1,166,000 /1,015,000
401 Al HIZ S 0HbI 151,000 1,166,000 /1,015,000
01 AlIZHI 150,000 1,165,000 21,015,000
SAAHEEZ2RIEEY| 150,000
03 A& S CHYI 1,000 1,000 0
QIEHHIS A 1,000
C2EE FB2elANAE A=E2S 70,000 100,000 /30,000
207 AN 70,000 100,000 /30,000
02 HADHE] 70,000 100,000 /30,000
SE2EE OOoIEdoIADB) 25 4 70,000
C2H =Y AX= MM 2 38,488 33,382 5,106
101 e124d| 38,488 33,382 5,106
04 JIRHNZ2Z2XSE+ 38,488 33,382 5,106
C2H =8 Hil= ¢dXelEt 2 38,4838
-JlZ2s 79,0003 »2&+1742 27,492
et at= 79,0002 2 +35! 5,530
-AXt=g 79,0002 x2H+7H 1,106
-= & 140,0003 »2&+83 2,240
—wSH| 70,0003 x2H+8E 1,120
-gdExE 500,000 x2Z*12] 1,000
WXZ A 120,000 1,200,000 1,080,000
401 Al HIZL 01| 120,000 1,200,000 1,080,000
01 A=l 120,000 1,200,000 1,080,000
E22-28 WIZE N (HEHAAHI) 120,000
AMIREEZ ol Zhl 160,000 135,000 25,000
WY A 160,000 135,000 25,000
401 AlZHIZ 01| 160,000 135,000 25,000
01 AlZHI 160,000 135,000 25,000
ANESHEE,25 & EIIE8Z 80,000
ANESHNEHEIE AMEE ZIIEH 80,000
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NEANEZ HE L OIZBAE &5 100,000 50,000 50,000

AEH elZet F= 100,000 50,000 50,000

401 Al HIZ 2018 100,000 50,000 50,000

01 Al&H| 100,000 50,000 50,000
ANEHEZ AEHEA 2 RAES 100,000

AR 9,930,000 7,720,000 2,210,000

SANAEEZ2HE 9,930,000 7,720,000 2,210,000

HHE~AFE2HUR3-7) SAHEZ200E (=) 4,000,000 0 4,000,000

401 Al HIZL S 0HYI 4,000,000 0 4,000,000

01 Al&H| 3,995,000 0 3,995,000
HE-AF(UZ37) TAHEEZ W& 3,995,000

03 Al 2 0HHI 5,000 0 5,000
HEAE(WZ37) SAHECZ i 5,000

HEsS-=ES2 T2H4 2| 22 SEHCIESH 350,000 0 350,000

401 Al HIZ S 0HYI 350,000 0 350,000

02 Zeltl 350,000 0 350,000
HES-=ES2 T2IHEAME 2 24 350,000

R4S (A22B) A E 20 500,000 0 500,000

401 Al HIZL S 0HYI 500,000 0 500,000

01 Al&HI 500,000 0 500,000
CHE 148 (A3-228) SAIHBEZ A 500,000

018 dalid TAH=EEZ OHE 5,000,000 3,000,000 2,000,000

401 AlEHIZ 201 5,000,000 3,000,000 2,000,000

01 Al&H| 5,000,000 3,000,000 2,000,000
0T daliyd TAAEEZ JHE 5,000,000

SAHEEZ F=HEEHIAY 80,000 0 80,000

402 2I2F X201 & 80,000 0 80,000

01 QI XHE AL E R (KM THE) 80,000 0 80,000
TAAEEZ FHSZ A 80,000

Y =S ZH 70,760 68,040 2,720

Jl=3H| 70,760 68,040 2,720

Jl=23H] 70,760 68,040 2,720

201 er23| 45,900 47,000 21,100

01 AtR2t2|HI 27,900 31,000 A3,100
2et=St| 23,400
=&l 4,500

02 S52g4l 18,000 16,000 2,000
S3k= & MAl 16,000
INE=E<{=1E=IN|=]] 2,000

202 04t 18,000 14,000 4,000

01 =LHOHI 18,000 14,000 4,000
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